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10 -sth SCIENCE I=
== Time: 1.30 Hrs i Marks : 50
I Choose the correct anfvlwt‘:;- 8X1=8
; als !
. 3?3.’3'3321"’ f°£‘ieg"?§”x 10'N ¢) 9.8 X 10%dyne ~ d) 980 dyne
2,  Power of a lens Is -4D, then Its focal length Is :
a)4 m b) - 40 m g Dae d)-2.5m
3. The volume occupled by 4.49 of CO, 2 0 ngp :
a)22.4litre  b) 2.24 litre c) o 4 litre, d) 0.1 litre
4, Oresof Aluminium a) Galena b) Zinc blende c) Bauxite * d) Hematite
5.  Glycolysis takes place In ...ovesene oo ! Chic _
a) Mitochondriab) Cytoplasm c) Chloroplast _d) Ribosomes
6. The animals which give birth to young ones are
a) oviparous  b) viviparous ) ovoviviparous d) all the above
7.  The disease caused by decrease in the number of thrombocytes
a) Anemia b) Leucocytosis  €) Laukopenia d) Thromboustopenia
8.  Vomiting centre Is located in : : .
a) Medulla oblongata b) Stomach  c) Cerebrum ~d) Hypothalamus
I  Answer any six of the following. Question number 16 is compulsory:
9.  Why does the sky appear in blue colaur. ' ~ 4X3=12
10. Write the different types of isotopes of Oxygen and Its percentage abundance.
11. What is rust? Give the equation for formation of rust, <
12. What are the factors affecting photosynthesis?
13. How Is diastema formed in rabbit? . >
14. What is coheslon? . : Y
15. Match the following. a) Nissll's granules:. = = Forebrain
' b) Hypothalamus “wi= Peripheral Nervous system
- ¢) Cerebellum . Cytone
) d) Schwannell, = - Hind brain
16. Calculate the velocity of a moving body of mass 5 kg whose linear momentum is
2.5 Kgms-1? : _ s
I Answer any four of the following. Question number 221s compulsory.
17. Differentiate the eye defects. Myopia and Hyper metropia. . 4X4=16
18. Classify the following molecules based on their atomicity and fill in the table.
Fluorine [(F,), Carbon di oxide (CO,), Glucose (C,H,;0,), Hydrogen lodide (HI),
Phosphorous(P,), Ozone (0,), - G
' Hglecule : Di tomic Trl atomic | Poly atomic
; Hetero R
19. How does the Tight dependent reaction differ from the Ngnt independent reaction?
What are the end product and reactants |n each? Where does each reaction occur
within the chloroplast? - i -
20. What s transpiration? Give the importa ration.
21. a) Draw and label the parts of Neﬁpron. Et):elﬂzfrrtcrea;fg iF'a"ts of the hind brain
22.. Als a silvery white metal. A combines with o_to form B at 800°C, the alloy of A s
used in making the aircraft. Find A and g, : ,
v A;sw;r.tre following quelstlonl in'detaj) 2X7 =234
23. a) Define intertia. Give its classification with ..
b) Define Newton's second law (2) (tg?;;”th example: (3)
a) Derive the relationship between Relatjye jar mass and vapour. density. (5)
b) Calculate the molecular mass of CQ ., molecu R
24,

a) Explain the male reproductive system nf - labelled dlagram. (5)
b) Write the dental formula of rabgit.e(?)“; rabpit with 2
a) Write the functions of blood.(5) b) What lg‘t!t'{e importan

lFM 10~
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KANCHIPURAM
A FIRST MID-TERM TEST - 2023 ’
Standard X RegNo.| | | |
--SCIENCE
Time : 1.30 hrs | Marks : 50
- _ Part - |
I. Choose the correct answer: 9x1=9
1. Inertia of a body depends on ) ‘ '
a) weight of the object :
b) acceleration due to gravity of the planet
c) mass of the object
d) both (a) and (b)
2. Impulse is equals to
a) rate of change of momentum b) rate-of force@nd time
c) change of momentum : d) rate of change-of mass
3. Power of a Iens is —4D, then its focal length is
a) 4m "b) 40 m c) -0. 25m d) —2.5.m
4. Mass of 1-mole of nitrogén atom is - :
~a) 28amu . b) 14 amu c) 28¢g d) 14g-
5. group contains the member of halogen famlly '
a). 17 - .- b) 15t c) 18w d) 16"
6. The endarch condl_tlon is the characteristic feature of
- a) root . “b) stem "~ c) leaves d) flower
7. Krebs' cycle takes place in ’ o
a) chloroplast . : b) . mitochondrial matrix -
c) stomata. . ' d) inner mitochondrial membrane
8. The animals which'give birth to young ones are N
a) oviparous . b ' b) viviparous
c) ovoviviparous ' . d) allthe above
9. | is an important metal to form amalgam.
- a) Ag. b) Hg - .c) Mg d) A
- " ’ _ - Part- I.I ‘
IIl. Answer any 4 questions. (Q.No.15 is compulsory) 4x2=8

10. Fillin the blanks :
i) Glycolysistakes place i in
i) The waxy blood sucking habit of leech is known as

1‘i. Classify the types of force based on their classification.

12. What are the causes of Myopia?
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13.

14.

15.

il
16.
17.
18.
19.
20.

R\

21

22.

23.

- b) i)+ How does leech res_piré? '
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(2) X Science

Name the acid that renders Aluminium passive. Why?
what is respiratory quotient? '
Calculate the gram molecular mass.of

i) HO - ii) CO;, R
Part - IIt

Answer any 3 questlons (Q No.20 is compulsory) 3x4=12

Differentiate Mass and Welght

Write any four.properties of light.

'What is rust? Write the equation for the formatlon of rust.

Name the three basic tissue system in flowering plants.
i) Draw and Tabel the structure of oXysomes.

ii) Write the overall reaction for photosynthesis.

Part- 1V

Answer in detail. . ‘ ) | s 3x7=21

.-a) State Newton’s laws of motion. -

_ (OR)
b)  Explain the rules for obtalnmg images formed by convex lens WIth the help of .
X-ray d|agram ‘

a) i) Define atomicity

i) State the postulates of modern.atomic theory.
| (OR)
b) What is an alloy? What arethe reasons for alloying'?
a) Differentiate )
| i)  Monocot rootand Dicot root
- i) . Aerobicand Anaerobic respiration.
' " (OR)

ii) List out the parasitic adaptations in leech.
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10 -sm SCIENCE =
Time: 1.30 Hrs : Marks : 50
I l:hnoso:';ll'l'_i_e'c;r_r_ec_t_;n;m;e-r: o 8X1=8

1.  One kilogram force equals to
a)9.8dyne b)9.8X10'Nc) 5.8 X 10°dyne d) 980 dyne
2. Power of a lens is -4D, then its focal length is

a)4 m b) - 40 m c) -0.25 m d)-2.5m
3.  The volume occupled by 4.4g of CO,at 3 S.T.P.
a)22.4litre  b) 2.24 litre c) 0.24 litre d) 0.1 litre
4.  Oresof Aluminium a) Galena b) Zinc blende c) Bauxite d) Hematite
5. Glycolysis takes place in ........coeeves .
a) Mitochondriab) Cytoplasm c) Chloroplast ~d) Ribosomes
6.  The animals which give birth to young ones are i |
a) oviparous  b) viviparous c) ovoviviparous d) all the above
7. The disease caused by decrease in the number of thrombocytes
a) Anemia b) Leucocytosis c) Laukopenia d) Thromboustopenia
8. Vomiting centre is located in _ :
a) Medulla oblongata b) Stomach c) Cerebrum d) Hypothalamus
I Answer any six of the following. Question number 16 is ¢ompulsory.
9.  Why does the sky appear in blue colour, 4X3=12

10. Write the different types of isotopes of Oxygen and its percentage abundance.
11.  What is rust? Give the equation for formation of rust, =

12. What are the factors affecting photosynthesis?

13. How is diastema formed in rabbit?

14, What is cohesion?

15.  Match the following. a) Nissil's granules - Forebrain
b) Hypothalamus - Peripheral Nervous system
¢) Cerebellum - Cytone , -
d) Schwann cell - Hind brain
16. Calculate the velocity of a moving body of mass 5 kg whose linear momentum is
2.5 Kgms-?
II Answerany four of the following. Question number 22 is compulsory,
17. Differentiate the eye defects;"Myopia and Hyper metropia, 4X4=16

18. Classify the following molecules based on their atomicity and fill in the table,
Fluorine [(F,), Carbon di oxide (CQ,), Glucose (CeH,,0;), Hydrogen iodide (HI),
Phosphorous (P,), Ozone (0,). - o

Molecule Di tomic Iri atomic Poly atomic

Homo T . v

Hetero

19. How does the Tight dependent reaction differ from the light independent reaction?
What are the end product and reactants in each? Where does each reaction occur
within the chloroplast?

20. What Is transpiration? Give the importance of transpiration.

21, a) Draw and |abel the parts of Neuron. b) Name the parts of the hind brain

22. A s a silvery white metal. A combines with O, to form B at 800°C, the alloy of A is
used in making the aircraft. Find A and B,

IV Answer the following questions in detail, 2X7 =14

23. a) Define Intertia. Give its classification with example, (5)

b) Define Newton’s second law (2) (OR) - .
a) Derive the relationship between Relative molecular mass and vapour density. (5)
b) Calculate the molecular mass of CO,. (2)
24.  a) Explain the male reproductive system of rabbit with a labelled diagram. (5)
b) Write the dental formula of rabbit. (2) (OR) :
a) Write the functions of blood.(5) b) What is the importance of valves in the heart. (2)
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R COMMON FIRST MID-TERM TEST -2023
- Standard X Regto LT [T [ 11
SCIENCE
Time : 3.00 hrs Part e Marks : 75

I-I
1.

. Which of the following has the smalles! mass?

Choose the correct answer: 12x1=12
Newlon's |1l law is applicable
a) for a body is al resl b) for a body in motion

¢) bolh (a) & (b) d) only for badies with equal masses
The unit of *g’ is ms=. Il can be also expressed as

a) cms-' b) NKg™* c) Nm! Kg'
The eye defect ‘Presbyopia’ can be corrected by

a) convexlens b) concavelens c) convex mirmor

d) cm’s?

d) Bilocal lenses

a) 6.023 x 102 alams of He b) 1atom of He

c) 2gofHe d) 1 mole atoms of He

In the nucleus of ,,Ca* there are
-a) 20 protons and 40 neutrons b) 20 protons-and 20 neutrons

c) 20 protons and 40 electrons d) 40 prolons and 20 electrons

6.-Chemical formula of rust is

7.
B.

9.
10.

1.
12.

I,
13.
14.

15.
- 16.
17.
18

a) FeO.xHO b) FeO,. uHD c) Fe,0, xHO d) FeO
Which is formed during anaerobic maplralinn"?

a) carbohydrate b) Ethyl alcohol ) Acelyl CoA d) pyruvale
Glycolysis takes place in )

a) cyloplasm b) chioroplast ‘€)mitochondrial malrix d) stomata
In leech locomotion is parformed-by

a) Anterior sucker b) Parapodia

c) Setae d) Contraction and relaxation of muscle:
Rool hairs are '

a) cortical cell b) projection of epidermal cell

c) unicellular d) both (b) and (c)

Bipolar neurofs.are found in

a) relinaofeye b) cerebral corex

c) embryo d) respiralory epithelium

‘Hear of heart” is called

a) SAnode b) AVnode ¢) Purkinje fibres  d) Bundle of His

Part-
Answer any 7 questions. (Q.No.22 Is compulsory)
Define moment of a couple.
Draw a ray diagram 1o show the image 'I::-nne:l by & convex lens when the nh;u
placed between F and 2F.
Define : Atomicity
State two condilions necessary for rusting of iron.
Write a short noles on mesophyll. N
Write the dental formula of rabbit.

Tuid
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18,

. 2 X Science
Identify the paris A B.C and D in the given figure

20 Match the following :

21,
22.

L.
21.
24,
25,
26,
27.

28.

AN,

32.

i} Nissil's granules - Forebrain

W) Hypolhalamus - Peripheral nervous system
i) Cerebellum - Cyton

i) Schwann cell - Hindbrain

Write the reaction for pholosynihesis? :

Calculale the gram molecular mass of the following > ) HO i) co,
Part-ll :

Answer any 7 questions, (Q.No.32 Is compulsory)
Differentiale mass and weight.

Give the application of universal law of gravitation,
Find the percenlage of nilrogen in ammonia.
How s the ore concentrated by froth floatation process?
Describe and name three stages ofceliular respiralion thal sercbic organisms ysza to
oblain energy from glucosse. -
Lisl out the parasillc adaptations in leech.
How are arleries and ¥eins structurally different from one another?
Explain the WBC with diagram. Y
With a neal laballed diagram, explain the structure of a neuron.
A beam of Tight\passing through a diverging lens of focal length 0.3 m appear 1o be
focused al a distance 0.2 m behind the lens. Find the position of the object.
Part- IV
Answer all the questions, (Draw diagrams wherever necessary) IxT=1
a) State and prove the law of conservation of linear momentum.
(OR)
by Differentiale the eyes defecls : Myopia and Hypermetropia
@) Derive the relalionship between Relative molecular mass and Vapour density.
| \ (OR)
b) Explain the male reproductive system of rabbit with a labelled diagram.
a) Differentiate the following :
i)  Manocot rool and Dicot rool
) Aerobic and Anaerobic respiration ~ (OR)
b) What is transpiration? Give the importance of transpiration.

;
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COMMON FIRST MID-TERM TEST - 2023

Standard X Reg.No. :
SCIENCE
Time: 1.30 hrs. Part - | | Marks: 50
. Choose the correct answer: Tul=7

1. Plotting a graph for momentum on the y-axis and time on x-axis slope of
momentum-time graph gives
a) |mpulsive force b) acceleration
c) force d) rate of force

2 A convex lens from a real, diminished point sized image at focus. Then the
position of the object is at

a) focus b) infinity
c) at2f d) between f and

3. Which of the following is a triatomic molecule? %%
a) glucose b) helium @

c) carbon dioxide d) hych@
4 Which group consists noble gases g
d) 18

a) chioroplast mitochondrial matrix

c) stomata d) inner mitochondrial membrane
€ The segments of leech are kna&a '

a) 14 b) 15 clo
5 Kerb's cycle takes place in %

a) metamers ﬂ b) proglottids
c) strobila d) all the above
7. 'Heart of heart' is ‘b
a) SAnode b) AV node
c) purkinje fibers d) bundie of His
Part - Il
Answer any 5 questions. (Q.No.16 is compulsory) $x2=10

Define inertia. Give its classification '

What is molar volume of a gas?

10 What is rust? Give the equation for formation of rust

11. What are the uses of copper?

12 Dvaw and label the structure of oxysomes

13 Who discovered Rh factor? Why was it named so?

14 What are the structures involved in the protaction of brain?

15 Draw a ray diagram (o show the image formed by a convex lens when the object
is placed between F and 2F

ﬁﬂ!
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16.
17.
18.

18.

21,

21.

23.

www.waytosuccess.org

(2) X Science
Part - lll
Answer any 3 questions. (Q.No.20 is compulsory) Ixnd=12
Describe rocket propulsion.
Differentiate convex lens and concave lens
a) How is diastema formed in rabbit?
b) List out the parasitic adaptations in leech.
a) Match the following :

1) Missil's granules Fore brain

iy Hypothalamus - Peripheral nervous system
i) Cerebellum - Cyton
) Schwann cell - Hind brain

b) Give an example for conditioned reflexes.

Calculate the number of moles in %%
i) 27gofAl @
i) 1.51 x 1023 molecules of NH,Cl c@
Part-|
Answer all the guestions. “ Ix7=21

a) i) Classify the types of fo on their application.
iy Deduce the equatio :éma using Newton's second law of motion.

rom
by i) Listanyfive pm%es of light.
i) State 's? :
a) i) Denv nship between Relative molecular mass and Vapour density.
i) Define Wtomicity
(OR)

b) i) Aisareddish brown metal which combines with O, at <1370K gives B,
a black coloured compound. At a temperature >1370K, A gives C which
is red colour. Find A, B and C with reaction.

iy What is Amalgam?

a) i) Differentiate monocot rootand dicot root.

i) Give an account on vascular bundle of dicot stem.
| (OR)

b) What is Transpiration? Give the.importance of transpiration.

HEWEEw
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10 -sm SCIENCE
Time: 1.30 Hrs

Choose the correct answer,

One kilogram force equals to

a)9.8dyne b)9.8X10'Nc) 9.8 X 10*dyne d) 980 dyne

Power of a lens is -4D, then its focal length Is

a)dm b) - 40 m c) -0.25 m d)-2.5m

The volume occupied by 4.4g of CO,at 3 S.T.P. »
a) 22.4 litre  b) 2.24 litre c¢) 0.24 litre d) 0.1 litre

Ores of Aluminium a) Galena b) Zinc blende c) Bauxite d) Hematlte
Glycolysis takes place in ..., i

a) Mitochondriab) Cytoplasm ¢) Chloroplast d) Ribosomes

The animals which give birth to young ones are '

a) oviparous b) viviparous c) ovoviviparous d) all the above

The disease caused by decrease in the number of thrombocytes

a) Anemia b) Leucocytosis c) Laukopenia d) Thromboustopenia

Vomiting centre is located in o

a) Medulla oblongata b) Stomach c¢) Cerebrum %Hypothalamus

Answer any six of the following. Question number 16 i is compﬂlsory.

Why does the sky appear in blue colour. 4X3=12
Write the different types of isotopes of Oxygen and jks percentage abundance.

What is rust? Give the equation for formation of rusts

What are the factors affecting photosynthesis?

How is diastema formed in rabbit?

What is cohesion?
Match the following.

-t et s O
=

b WN e

o

a) Nissil's granules. & Forebrain
b) Hypothalamu§ - Peripheral Nervous system
¢) Cerebellum - Cytone
d) Schwafin'cell - Hind brain
Calculate the velocity of a méving, body of mass 5 kg whose linear momentum is
2.5 KgmS-1?
Answer any four of thefollowing. Question number 22 is compulsory.
Differentiate the eye.defects: Myopia and Hyper metropia. 4X4=16
Classify the followjag, molecules based on their atomicity and fill in the table.
Fluorine [(F/}, Carbomydi @xide (CO,), Glucose (C.H;,0,), Hydrogen iodide (HI),
Phosphorglis (P,), @Zone (O,).
Molecule Ditomic Tri atomic Poly atomic
1“Homo
Hetero
How does the Tight dependent reaction differ from the Tight Tndependent reaction?
What are the end product and reactants in each? Where does each reaction occur
within the chloroplast?
What is transpiration? Give the importance of transpiration.

a) Draw and label the parts of Neuron. b) Name the parts of the hind brain
A Is a silvery white metal. A combines with O, to form B at 800°C, the alloy of A is
used in making the aircraft, Find A and B.
Answer the following questions in detail. ' 2X7=14
a) Define intertia, Give its classification with example. (5)
b) Define Newton’s second law (2) (OR)
a) Derive the relationship between Relative molecular mass and vapour density. (5)
b) Calculate the molecular mass of CO,. (2)
a) Explain the male reproductive system of rabbit with a labelled dlagram. (5)
b) Write the dental formula of rabbit. (2) (OR)
a) Write the functions of blood.(5) b) What is the importance of valves in the heart. (2)
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V10§ I WaYiosuecess.org Virudhunagar District
First Mid Term Test - 2023
VIRUDUNAGAR
Standard 10
Time: 1.30 Hours SCIENCE
PART -1

Answer all the questions
Choose the most appropriate answer:
1) Yo Project the rockets which of the following principle
a) Newton's third law of motion
b) Newton's law of gravitation
¢) Law of conservation of linear momentum
d) Both a and ¢ '
2) Magnification of convex lens is
a) Positive
b) negative

c) either positive or negative

d) zero
3) The gram molecular mass of waterds i+
a) 29 b) 169 c) 8g

4) Chemical formula of rust i§<. s oeenee

a) Fe0.xH,0 b) FeO,. xH,0 c) Fe,05.xH,0

5) Casparian strips are present in the ............. of the root.

b) pith c) pericycle

6) Dental formula for rabbit is .......o.ens

a) cortex

2033 2033 33
2 Jo23 b) 2023 el s
7) 'Heart of Heart' is called
a) SA node b) AV node ¢) Purkinje fibres
8) The heart of fish possess ........... chambers.
a) 3 b) 2 c) 4

PART - 11
Answer any six questions: (Q16 is compulsory)
9) Differentiate mass and weight.
10) State Rayleigh's law of scattering.
11) Define ' Atomicity

L)

Marks: 50

gx1=8

(s) is/are required?

d) 189

d) FeO

d) endodermis

2023

1023

d)

d) Bundle of His

d)5

6x2=12

12) Ais a silvary white metal. A combines with 0, to form B at 800°C, the alloy

of A is used in making The aircraft. Find A and B

13) What is photosynthesis and where in a cell does thSteam190@gmai"°°m

t occur?



V10S

14) Matchayibsuccess.or fis
W g Anergic condition
AB blood group - "
O blood group - .
. Absence of antigen
Eosinophil -
Absence of antibody

15) What is the importa

16) Calculate the nu

Answer any four questions: (Q23is

17)
18)
19)
20)

21)

22)
23)

Answer the questions. Draw diagrams Wherever necessary

24)

Neutrophils
nce of valves in the heart?

mber of molés in 27g of Al.

PART - 111
compulsory)
a? Give an example of each type.

4x4=16

What are the types of inerti

List any five properties of light
Derive the relationship between Relative molecular mass and Vapour density

a) Whatisan amalgam? Given an example

b) Mention any two uses of copper.
a) Write short notes on mesophyli
b) Draw and lable the structure of oxysomes.

Explain the male reproductive system of rabbit with a labelled diagram

a) Calculate the velocity of a moving body of mass 5kg whos2 1 ~ear
momentum is 2.5kgms™!

b) A man of mass 100kg has a weight of .............
Earth.

at the suirface or the

PART -1V
2x7=14
a) i) Explain the construction and working of a 'Compound Microscope'.

i) Draw a ray diagram to show the image formed by a convex lens when

the object is placed between F and 2F.
(OR)

b) i) Explain different methods of preventing corrosion.

i) Give any three salient features of "Modern atomic theory"

25) a) i) Differentiate Monocot root and Dicot root.

if) What is respiratory quotient?
. | (OR)
) i) Whatis transpiration? Give the importance of transpiration
II) Enumerate any three functions of blood. wtsteam100@gmail.com
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